Q.2 a. Show that the real and imaginary parts of the function  $w = \log z$  satisfy the Cauchy – Riemann equations when z is not zero. Find its derivatives. (8)

Hence 
$$w = \log z$$
  
 $= \log(2e^{iy})$   
To separate the read and Imaginary parts,  
 $pnt x = vaso, y = vsnus and  $w = u+ile$  i.e.  
 $w = ly z = u+iv = log (rcoso+ivsno)$   
 $= log v e^{iy}$   
 $= log v + iv = log (rcoso+ivsno)$   
 $= log (rcoso+iv$$ 

Hence 
$$w \ge \log z$$
 is analytic function  $except$   
when  $n^2 + y^2 \ge 0 \Rightarrow x = 0 = y = 0 \Rightarrow x \in iy = 0$   
How  $w = u + i ce$   
 $dw = \frac{\partial u}{\partial z} = \frac{\partial u}{\partial x} + i \frac{\partial le}{\partial x} = \frac{x}{2\pi + iy^2} - i \frac{y}{2\pi + iy}$   
 $= \frac{x - iy}{n^2 + y^2} = \frac{x - iy}{(x + iy)(x - iy)}$   
Mence  $dw = \frac{1}{2}$ , which is the  
required deviced devices.

b. Evaluate  $\int_{0}^{\infty} (x^2 - iy) dz$  along the path (i). y = x (ii).  $y = x^2$ . (8)

Let 
$$T = \int_{0}^{1+i} (\pi^{2} - iy) dz$$
  
 $= \int (\pi^{2} - iy) (obsceidy)$   
(1) along the path  $y = \pi ,$  then  $dy = d\pi$   
and  $\pi = 0$  to 1 then  
 $T_{1} = \int_{0}^{1} (\pi^{2} - ix) (obschid\pi)$   
 $= \int (\pi^{2} - ix) (i+\hat{x}) d\pi$   
 $= (i+\hat{x}) (\frac{\pi^{3}}{3} - i\frac{\pi^{2}}{2})_{0}^{1}$   
 $= (i+\hat{x}) (\frac{1}{3} - \frac{i}{2}) = \frac{5}{6} - \frac{i}{6}$ 

AE107/AC107/AT107

(ii) Thoughthe part 
$$y = n^2$$
 then  $dy = 2ndn$   
and  $x = 0 \neq 0$  [. then  

$$T_2 = \int_0^1 (n^2 - in^2)(dn + i 2nd)$$

$$= \int_0^1 n^2(1 - i)(1 + 2in) dn$$

$$= (1 - i) \int_0^1 n^2(1 + 2in) dn$$

$$= (1 - i) \left(\frac{x^3}{3} + 2i \frac{x^4}{4}\right)^1$$

$$= (1 - i) \left(\frac{1}{3} + \frac{i}{2}\right)$$

$$= \frac{5}{6} + \frac{1}{6}$$

**Q.3** a. Find the bilinear transformation, which maps  $z_1 = 0$ ,  $z_2 = 1$ ,  $z_3 = \infty$  in to (8)  $w_1 = i$ ,  $w_2 = -1$ ,  $w_3 = -i$ 

Here 
$$z_1 = 0$$
,  $z_2 = 1$ ,  $z_3 = \infty$  and  
 $w_1 = \lambda$ ,  $w_2 = -1$ ,  $w_3 = -\lambda$ .  
Here  $z_3 = \infty$ , so that we can not  
apply the formula  
 $\frac{w - w_1}{w - w_3} \cdot \frac{w_2 - w_3}{w_2 - w_1} = \frac{(z - z_1)(z_2 - z_3)}{(z - z_3)(z_2 - z_1)}$  ender  
so we can where  $z_1$  as  
 $\frac{w - w_1}{w - w_3} \cdot \frac{w_2 - w_3}{w_2 - w_1} = \frac{(z - z_1)(\frac{z_2}{z_3} - 1)}{(\frac{z_3}{z_3} - 1)(\frac{z_3}{z_3} - 1)}$   
How substituting the all values  
 $\frac{w - \lambda}{w + \lambda} \cdot \frac{-1 + \lambda}{-1 - \lambda} = \frac{(z - 0)(0 - 1)}{(0 - 1)(1 - 0)} \Rightarrow \frac{w - \lambda}{w + \lambda} (-1) = z$   
 $w = -\lambda \cdot \frac{z - \lambda}{z + \lambda} = -(\frac{\lambda + 1}{z + \lambda})$  And

b. Find the terms in the Laurent expansion of  $f(z) = \frac{1}{(z+1)(z+3)}$ , for the region (i) 1 < |z| > 3 (ii) |z| < 1

Answer Solution(b) Here  $f(z) = \frac{1}{(z+1)(z+3)}$  $\frac{\text{case}(i)}{2} | (z|z| C3) = \frac{1}{2} \left( \frac{1}{z+1} - \frac{1}{z+3} \right)$  $f(2) = \frac{1}{2} \left[ \frac{1}{2(1+\frac{1}{2})} - \frac{1}{3(1+\frac{2}{3})} \right]$ = = ( = (+=))-= (+=))7  $= \frac{1}{2} \left( \frac{1}{2} \left( 1 - \frac{1}{2} + \frac{1}{2^2} - \frac{1}{2^3} + \cdots \right) - \frac{1}{3} \left( 1 - \frac{2}{3} + \frac{2^2}{3^2} - \frac{2^3}{3^2} + \frac{2^3}{3^2} - \frac{2^3}{3^2} + \frac{2^$  $= \left(\frac{1}{2^{2}} - \frac{1}{2^{2}} + \frac{1}{2^{2}} - \frac{1}{2^{2}} + \frac{1}{2^{2}} - \frac{1}{2^{2}} + \frac{1}{2^{2}} - \frac{1}{6} + \frac{2}{18} + \frac{1}{18} + \frac{1}{18$  $-\frac{2^{2}}{54}+\frac{2^{3}}{42}$  $= - - - \frac{1}{2^{2}4} + \frac{1}{2^{2}3} - \frac{1}{2^{2}2} + \frac{1}{2^{2}} - \frac{1}{6} + \frac{2}{18} - \frac{2^{2}}{5^{4}}$ 

4

$$\begin{aligned} G = e(i), \quad [z] \leq 1, \text{ then} \\ f(z) &= \frac{1}{g(z+1)(z+3)} = \frac{1}{g(z+1)} - \frac{1}{z+3} \\ &= \frac{1}{2}(1+2)^{-1} - \frac{1}{2}(3+z)^{-1} \\ &= \frac{1}{2}(1-2)^{-1} - \frac{1}{6}(1+\frac{2}{3})^{-1} \quad \left( \cdot \cdot \frac{|z| \leq 1}{3} \right)^{-1} \\ f(z) &= \frac{1}{2}(1-2+2^2-2^3+\cdots) - \frac{1}{6}(1-\frac{z}{3}+\frac{2^2}{q}-\frac{z^3}{27}+\cdots) \\ &= \left(\frac{1}{2}-\frac{1}{6}\right) + \left(-\frac{2}{2}+\frac{z}{18}\right) + \left(\frac{2^2}{2}-\frac{2^2}{54}\right) + \\ &= \left(-\frac{z^3}{2}+\frac{z^3}{162}\right) + \cdots - - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{40}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{4}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{4}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z + \frac{13}{27}z^2 - \frac{4}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z^3 + \frac{13}{27}z^2 - \frac{4}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z^3 + \frac{13}{27}z^3 - \frac{4}{31}z^3 + \cdots - \\ &= \frac{1}{3}-\frac{4}{9}z^3 + \frac{13}{27}z^3 + \frac{13}{27}$$

Hence 
$$\overline{z} = \pi i + yj + 3k$$
, then  
 $k = |\overline{z}| = \sqrt{\pi^2 + y^2 + 3^2}$  and  
Net  $\overline{a} = a_j i + a_1 j + a_3 k$   
Now  $\overline{a} \times \overline{x} = \begin{vmatrix} i & j & k \\ a_i & a_1 & a_3 \\ \pi & y & 3 \end{vmatrix}$   
 $= i(a_1 - a_3 + b_3) - j(a_1 - b_3 - b_3) + k$   
 $(a_1 - a_1 - a_3)$ 

and 
$$\frac{\overline{a^{2} \times \overline{a^{2}}}{|\overline{a^{2}}|^{n}} = \frac{(a_{2} - a_{3} - a_{3}$$

AE107/AC107/AT107

b Define CURL of a vector point function with physical interpretation. (8)

Definition of CURL:  
Let 
$$\vec{F}^2 = \vec{F}_i \vec{i} + \vec{F}_2 \vec{j} + \vec{F}_3 \vec{k}$$
 be any  
vector pains function  $\vec{F}$ , then the  
curl of a vector paint function  $\vec{F}^2$   
defined as below to.  
Curl  $\vec{F}^2$  or  $\nabla \vec{X} \cdot \vec{F}^2 = \left(\frac{2}{2\pi}\vec{i} + \frac{2}{2y}\vec{j} + \frac{2}{2\xi}\vec{k}\right)\vec{X}\left(\vec{F}_i\vec{i} + \frac{\vec{F}_2}{2y} + \vec{F}_3\vec{k}\right)$   
 $= \left[ \left( \frac{2}{2\pi}\vec{F}_3 - \frac{2\vec{F}_2}{2y} \right) - \vec{j} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2\vec{F}_3}{2y} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi}\vec{F}_2 - \frac{2\vec{F}_3}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_2}{2\pi} - \frac{2\vec{F}_3}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2\vec{F}_3}{2\pi} - \frac{2}{2\pi} + \frac{2}{2y} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\pi} + \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}{2\xi} \left( \frac{2}{2\pi} + \frac{2}{2\pi} + \frac{2}{2\xi} \right) + \frac{2}$ 

$$= \nabla \times \left[ (\omega_{1} i + \omega_{2} j + \omega_{3} k) \times (x + y + y + k + k) \right]$$

$$= \nabla \times \left[ \begin{array}{c} i & j & k \\ w_{1} & w_{2} & w_{3} \\ z - y & z \end{array} \right]$$

$$= \nabla \times \left[ (\omega_{2} z - \omega_{3} y) i - (\omega_{1} z - \omega_{3} z) j + (\omega_{1} y - \omega_{3} x) k \right]$$

$$= \left( \begin{array}{c} i & 0 \\ \overline{c} x + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} x + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} x + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} x + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} x + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} y + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} y + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ \overline{c} y + j \cdot \frac{\partial}{c} y + k \cdot \frac{\partial}{c} \\ - \frac{\omega_{3} \times j}{c} j + (\omega_{1} y - \omega_{2} x) k \right]$$

$$= \left( \begin{array}{c} \omega_{1} + \omega_{1} \end{pmatrix} \cdot (\omega_{1} z - \omega_{2} \eta) j + (\omega_{3} + \omega_{3} \eta) k \\ \overline{c} & (\omega_{1} + \omega_{2} \eta) + (\omega_{3} + \omega_{3} \eta) k \\ \overline{c} & z \\ \overline{c} & (\omega_{1} + 1 + \omega_{2} \eta) + (\omega_{3} + \omega_{3} \eta) k \\ \overline{c} & z \\ \overline{c} &$$

**Q.5** a. Evaluate 
$$\int_{c} \vec{F} \cdot d\vec{r}$$
, where  $\vec{F} = \frac{iy - jx}{x^2 + y^2}$  and c is the circle  $x^2 + y^2 = 1$  traversed counter clockwise. (8)

$$det \vec{A} = \pi i + y j + d f k$$

$$d\vec{e} = d\pi i + dy j + d g k$$
Hune  $\vec{F} = \frac{i y - j \pi}{\pi^2 + y^2}$ 
How  $\vec{F} d\vec{e} = \left(\frac{i y - \pi j}{\pi^2 + y^2}\right) \cdot \left(d\pi i + dy j + dg k\right)$ 

$$= \frac{d\pi y}{\pi^2 + y^2} - \frac{\pi dy}{\pi^2 + y^2} \Rightarrow \frac{y d\pi - \pi dy}{\pi^2 + y^2}$$

$$\int_{e} \vec{F} \cdot d\vec{A} = \int_{e} y d\pi - \pi dy \quad \therefore \pi^2 + y^2 = 1$$
How parameteric equation of the circle
$$\pi = \pi \cos 0, \quad y = \pi \sin 0 \quad ; \quad \pi^{2} = 1$$

$$d\pi = -\pi \sin \theta d\theta, \quad dy = \pi \sin \theta d\theta$$
and  $\theta \text{ move from } \theta \text{ to } 2\pi$ 

$$\therefore \int_{e} \vec{F} \cdot d\vec{A}^2 = \int_{0}^{2\pi} \pi \sin \theta (-\pi \sin \theta d\theta) - \pi \sin \theta (\pi \sin \theta - \pi)$$

$$\lim_{e} \pi = 1$$

$$= \int_{0}^{2\pi} (-\pi \sin^2 \theta - \cos^2 \theta) d\theta$$

$$= \int_{0}^{2\pi} - d\theta = (-\theta)_{0}^{2\pi} = -2\pi$$
Hence 
$$\int_{e} \vec{F} \cdot d\vec{A}^2 = -2\pi$$

b. Verify Stocke's Theorem for  $\overrightarrow{F} = (x^2 + y - 4)i + 3xyj + (2xz + z^2)k$  over the surface of hemisphere  $x^2 + y^2 + z^2 = 16$  above the x-y plane. (8)

We know that Stoke 18  
theorem is  

$$\int_{C} \vec{F} \cdot d\vec{k} = \iint_{S} (\vec{r} \times \vec{F}) \cdot \hat{n} \, ds$$
How 
$$\int_{C} \vec{F} \cdot d\vec{k}, \text{ where } c \text{ is the boundary of the fract } n^{2} + y^{2} + 3^{2} = 16$$
and 
$$\vec{F} = (n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k$$

$$\int_{C} \vec{F} \cdot d\vec{k} = \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k] \cdot (dn d + dy)$$

$$= \int_{C} [(n^{2} + y - 4)i + 3\pi y j + (2\pi 3 + 3^{2}) k]$$

$$= \int_{C} [(n^{2} + 4 \cos^{2} 0 + 4\sin 0 - 4)i + (4\sin 0 d 0) + dx]$$

$$= 16 \int_{0}^{2\pi} (8\pi 0 \cos^{2} 0 - 5\pi 2 0 + 5\pi 0) d0$$

$$= -16 \int_{0}^{2\pi} (8\pi 0 \cos^{2} 0 - 5\pi 2 0 + 5\pi 0) d0$$

$$= -16 \int_{0}^{2\pi} (3\pi 0 \cos^{2} 0 - 5\pi 2 0 + 5\pi 0) d0$$

= - 16 × 4 for 72 sim20 do
$= -64(\frac{1}{2},\frac{\pi}{2})$
$\int_{C} \vec{F} \cdot d\vec{r} = -16\pi$
Now SEXF) nds
NOW $\forall X \vec{F} = \begin{bmatrix} 1 & j & k \\ \hline \partial x & \partial y & \frac{\partial}{\partial z} \\ \frac{\partial}{\partial x^2 + y - 4} & 3xy & 2x_3 + 3 \end{bmatrix}$
27+4-4 327 223+3
= i(0-0) - j(23-0) + k(3y-1)
$\nabla X \vec{F} = -23j + (3j-1)k$
$\nabla X \vec{F} = -23 + (3 - 1) (x $
$=\frac{2\pi x + 2y j + 23 k}{\sqrt{4 \pi^2 + 4y^2 + 4y^2}}$
$= \frac{\chi (2 + \gamma) + 3 \chi}{\sqrt{\chi^2 + \gamma^2 + 3^2}} = \frac{\chi (1 + \gamma) + 2 \chi}{4}$
$(\forall x \vec{F}) \cdot \vec{n} = (-23j + (3j-1)k) \cdot (\frac{3i+yj+3k}{4})$
= -273 + (37-1)3
k.nds = dndy = + + yj+3k. Kds = dndy = = = ds = dndy

= ds = dx ay × 4 Z
Hence $\iint (\forall X F^2) h ds = \iint \frac{-2y_3 + (3y - 1)y_3}{4} \times [\frac{y_1}{3} dn dy_1]$
= ][[-2] + (3] - 1)]ehrdy
$= \iint (Y-1) dn dy$
on putting, $x = r\cos\theta$ and $y = rd\theta$ $y = r \sin\theta$
$= \iint (\mathcal{E} \operatorname{sn} \mathcal{O} - 1) \operatorname{k} \operatorname{dod} r$
$= \int dO \int \left( r^2 - s \right) dr$
$= \int_{0}^{2n} d\theta \left(\frac{\delta^{3}}{3} \sin \theta - \frac{\delta^{2}}{2}\right)_{0}$
$= \int_0^{2\pi} d\theta \left(\frac{16}{3} \sin \theta - \vartheta\right)$
$= \left[ -\frac{64}{3} \cos \theta - 80 \right]_{0}^{2\pi}$
$= -\frac{64}{3} - 16\overline{n} + \frac{64}{3}$ $= -\frac{16\overline{n}}{3}$ Hence the line is a singletation
$H_{example}$
Henne the line integral is aqual to the subafare integral, hence stokers theorem
is vezified.

**Q.6** a. State and Prove Lagrange's interpolation formula.

Answer:

$$\frac{4atement}{1} = ket y = f(x) be a function,$$
which takes the values  $f(x_0), f(x_1), f(x_0) = --$ .  
 $f(x_0)$  corresponding to the values of  
 $x = x_0, x_1, x_2, --- x_0, not necess analy
Equal spaced, then
 $f(x_0) = \frac{(x_0 - x_1)(x_0 - x_0) - (x_0 - x_0)}{(x_0 - x_1)(x_0 - x_0) - (x_0 - x_0)} \frac{f(x_0) + \frac{(x_0 - x_0)(x_0 - x_0) - (x_0 - x_0)}{(x_0 - x_0) - (x_0 - x_0)} \frac{f(x_0)}{(x_0 - x_0) - (x_0 - x_0)} + \frac{(x_0 - x_0)(x_0 - x_0) - (x_0 - x_0)}{(x_0 - x_0) - (x_0 - x_0)} \frac{f(x_0)}{(x_0 - x_0)} \frac{f(x_0)}{(x_0 - x_0) - (x_0 - x_0)} \frac{f(x_0)}{(x_0 - x_0)} \frac{$$ 

Rut 
$$x = x_0$$
 and  $f(x) = f(x_0)$  in equation(4)(19)  
 $f(x_0) = A_0(x_0-x_1)(x_0-x_1) - \cdots (x_0-x_n)^{(1)}$   
 $\therefore A_0 = \frac{f(x_0)}{(x_0-x_1)(x_0-x_1) - \cdots (x_0-x_n)}$   
again put  $x = x_1$  and  $f(x_1) = f(x_1)$  in (A) then  
 $f(x_1) = A_1(x_1-x_0)(x_1-x_1) - \cdots (x_1-x_n)$   
 $\therefore A_1 = \frac{f(x_1)}{(x_1-x_0)(x_1-x_1) - \cdots (x_1-x_n)}$   
Proceeding in the same way, we get  
the value of  $A_1, A_2, A_3 = \cdots A_n$  is.  
 $A_2 = \frac{f(x_2)}{(x_2-x_1) - \cdots (x_2-x_n)}$   
Subtring all values of  $A_0, A_2 = -A_2 - \cdots A_n$   
 $in Cognadian (A), we get$   
 $f(x_0) = \frac{(x-x_1)(x_1-x_2) - \cdots (x_0-x_0)}{(x_0-x_1) - \cdots (x_0-x_0)} - f(x_0) + \frac{(x_0-x_0)(x_0-x_0) - \cdots (x_0-x_0)}{(x_0-x_0) - (x_0-x_0)} - (x_0-x_0)(x_1-x_0) - \cdots (x_0-x_0)(x_1-x_0) - \cdots + \frac{(x_0-x_0)(x_0-x_0) - \cdots (x_0-x_0)}{(x_0-x_0)(x_0-x_0) - (x_0-x_0) - \cdots (x_0-x_0)}$   
which is the required lagstangers  
interpolation formula.

b. Evaluate 
$$\int_{0.5}^{0.7} \sqrt{x} e^{-x} dx$$
 by Simpson's  $\frac{1}{3}$  rule. (8)  
Answer:  

$$\frac{het}{1} = \int_{0.5}^{0.7} \sqrt{x} e^{-x} dx$$
Hune internal in 20 4 equal parts  
each of width  $h = 0.7 \pm 0.5$   
Hune  $f(x) = \sqrt{x} e^{-x}$  Hew  

$$\frac{x}{1} = \frac{1}{10} e^{-\frac{24}{5}} = \frac{1}{10} e^{-\frac{24}{5}} = \frac{0.05}{4}$$
Hune  $f(x) = \sqrt{x} e^{-\frac{24}{5}} = \frac{0.05}{4}$   
Hune  $\frac{1}{10} e^{-\frac{24}{5}} = \frac{1}{10} e^{-\frac{24}{5}} = \frac{0.05}{4}$ 
Hune  $\frac{1}{5} e^{-\frac{24}{5}} = \frac{1}{10} e^{-\frac{24}{5}} = \frac{0.05}{4}$   
Hune  $\frac{1}{5} e^{-\frac{24}{5}} = \frac{1}{5} e^{-\frac{24}{5}} = \frac{1}{5} e^{-\frac{24}{5}}$   
Hune  $\frac{1}{5} e^{-\frac{24}{5}} = \frac{1}{5} e^{-\frac{2$ 

**Q.7** a. Form the partial differential equation by eliminating the function f from the relation  $z = y^2 + 2 f(\frac{1}{x} + \log y)$ .

Answer:

Here 
$$z = y^2 + 2f(\frac{1}{x} + \frac{1}{6}\partial y)$$
   
For formation the P.D.E,  
Differentiate  $0 \text{ werto } x \notin y \text{ as partially}$   
 $p = \frac{72}{2x} = 2f'(\frac{1}{x} + \frac{6}{6}y) \cdot (-\frac{1}{42})$   
 $-px^2 = 2f'(\frac{1}{x} + \frac{6}{6}y) - 0$   
and  
 $v = \frac{32}{2y} = 2y + 2f'(\frac{1}{x} + \frac{6}{6}y)(\frac{1}{y})$   
 $vy - 2y^2 = 2f'(\frac{1}{x} + \frac{6}{6}y) - 0$   
From equation  $0 \text{ and } 0$ , we set  
 $-px^2 = yy - 2y^2$   
 $z^2p + yy = 2y^2$   
Which is a partial differential signation  
of the first ender.  
b. Solve  $\frac{\partial^2 z}{\partial x^2} + \frac{\partial^2 z}{\partial x \partial y} - 6\frac{\partial^2 z}{\partial y^2} = y \cos x$  (8)

Answer:

Solution(b) Here the equation is  

$$\frac{2^{2}3}{2\pi^{2}} + \frac{2^{2}2}{2\pi^{2}} - 6\frac{2^{2}2}{2\pi^{2}} = 9\cos \pi$$
At  $\frac{2}{2\pi} = b$  and  $\frac{2}{2\pi} = b'$  then  
 $(b^{2} + bb' - 6b^{2})z = 9\cos \pi$   
At  $m^{2} + m - 6 = 0$ ; but  $b = m$  and  $b = 1$   
 $m = -3, 2$ 

16

 $GF = f_1(y-3x) + f_2(y+2x)$ How To find P.E  $B.I = \frac{1}{D^2 + D D^2 - 6D^2}$  Scores 2 = (D+3D')(D-2D') 9652  $=\frac{1}{(D+3D')}\cdot\frac{1}{(D-2D')}$  $= \frac{1}{D+3D'} \int (C-2\pi) \cos \pi d\pi \qquad (: Hew n=)$   $= \frac{1}{D+3D'} \int (C-2\pi) \cos \pi d\pi \qquad (: Hew n=)$   $= \frac{1}{D+3D'} \int (C-2\pi) \sin \pi c - \int (-2) \sin \pi c d\pi \qquad (: Hew n=)$   $= \frac{1}{D+3D'} \int (C-2\pi) \sin \pi c - \int (-2) \sin \pi c d\pi \qquad (: Hew n=)$  $= \int \left[ (y + 2x - 2x) \sin x - 2 \cos x \right]$   $= \int \left[ (y + 2x - 2x) \sin x - 2 \cos x \right]$   $= \int \left[ y - \sin x - 2 \cos x \right]$   $= \int \left[ y - \sin x - 2 \cos x \right] dx$ Here m = 3,  $y = m\pi + y = 3 + c$ = (c+32) (-6222) - J3 (-6222) dr - 28/m2 = (y-3x+3x) (- asx) + 33 mm - 28nx = - y cosx +3 & 1mx - 2 & 1mm = - Yax + Simx Hence complete solution is given by  $z = f_1(y-3x) + f_2(y+2x) - y_{GSX} + sim x$ 

**Q.8** a. State and prove BAYE'S theorem.

Statement: If 
$$E_1, E_2, E_3 - - E_n$$
 are  
mutually exclusive and exhaustive events  
with  $P(E_i) \pm 0$ ,  $(i = 1, 2, 3 - \cdot n)$  of a kandom  
experiment then for any aubitrary event  
A of the sample space of the above experi-  
ment with  $P(A) = 0$ , we have  

$$P\left(\frac{E_i}{A}\right) = \frac{P(E_i) P(A|E_i)}{\sum_{i=1}^{n} P(E_i) P(A|E_i)}$$

$$\frac{P(E_i) P(A|E_i)}{\sum_{i=1}^{n} P(E_i) P(A|E_i)}$$

$$\frac{P(E_i) P(A|E_i)}{\sum_{i=1}^{n} P(E_i) P(A|E_i)}$$

$$E_{i} = \sum_{i=1}^{n} P(E_i) P(A|E_i)$$

$$S = E_i \cup E_2 \cup E_3 \cup - \cup E_n$$

$$\therefore A = A \cap S \qquad (\therefore A \subset S)$$

$$= A \cap (E_i \cup E_2 \cup E_3 \cup - \cup UE_n)$$

$$= [A \cap E_i] \cup (A \cap E_2) \cup - - \cdot \cup (A \cap E_n)$$

$$By alistic but dive taway
P(A) = P(A \cap E_i) + P(A \cap E_2) + - - - + P(A \cap E_n)$$

$$= P(E_i) \cdot P(A|E_i) + P(E_2)P(A|E_2) + - - - + P(A \cap E_n)$$

$$= P(E_i) \cdot P(A|E_i) - (A)$$
How  $P(A \cap E_i) = P(A) P(E_i/A)$ 

$$P(E_{i}/A) = \frac{P(A \cap E_{i})}{P(A)}$$

$$= \frac{P(E_{i}) P(A/E_{i})}{\frac{Z}{E} P(E_{i}) P(A/E_{i})}, using(A)$$
Hence
$$P(E_{i}/A) = \frac{P(E_{i}) P(A/E_{i})}{\frac{Z}{E} P(E_{i}) P(A/E_{i})}$$

b. A can hit a target 4 times in 5 shots, B 3 times in 4 shots, C twice in 3 shots. They fire a volley. What is the probability that at least two shots hit? (8)

Probability of A's hitting the tangent = 
$$\frac{4}{5}$$
  
Probability of B's hitting the tanget =  $\frac{3}{4}$   
Probability of C's hitting the tanget =  $\frac{2}{3}$   
For at least two hits  
(i) A, B, C all hit the tanget, the probability  
for which is  
 $\frac{4}{5} \times \frac{3}{4} \times \frac{2}{3} = \frac{24}{60}$   
(ii) A, G hit the tanget and C misses it, the  
probability for which is  
 $\frac{4}{5} \times \frac{3}{4} \times (1-\frac{2}{3}) = \frac{4}{5} \times \frac{3}{4} \times \frac{1}{3} = \frac{12}{60}$   
(iii) A, C hit the tanget and C misses it, the  
probability for which is  
 $\frac{4}{5} \times \frac{3}{4} \times (1-\frac{2}{3}) = \frac{4}{5} \times \frac{3}{4} \times \frac{1}{3} = \frac{12}{60}$   
(ii) A, C hit the tanget and B misses it, the Prob  
For which is  
 $\frac{4}{5} \times \frac{1}{5} \times \frac{1}{5} \times \frac{2}{5} = \frac{8}{60}$   
(iii) A, C hit the tanget and A misses it, the  
probability for which is

Q.9 a. Out of 800 families with 4 children each, how many families would be expected to have (i) 2 boys and 2 girls (ii) At least one boy (iii) No girl (iv) At most two girls? (8) Assume equal probability for boys and girls

Solution 9(a). Let p and q be the probability of having boys and girls Since, the probability for boys and girls are equal i.e.  $P = q = \frac{1}{2}$ Here, n = 4 and N = 800, the binomial distribution is

 $800\left(\frac{1}{2}+\frac{1}{2}\right)^4$ 

(i). the expected number of families having 2 boys and 2 girls

$$= 800 \ ^{4}C_{2} \left(\frac{1}{2}\right)^{2} \left(\frac{1}{2}\right)^{2} = 800 \times 6 \times \frac{1}{16} = 300$$

(ii). the expected number of families having at least one boy

$$= 800 \left[ {}^{4}C_{1} \left(\frac{1}{2}\right)^{3} \left(\frac{1}{2}\right) + {}^{4}C_{2} \left(\frac{1}{2}\right)^{2} \left(\frac{1}{2}\right)^{2} + {}^{4}C_{3} \left(\frac{1}{2}\right) \left(\frac{1}{2}\right)^{3} + {}^{4}C_{4} \left(\frac{1}{2}\right)^{4} \right]$$
$$= 800 \times \frac{1}{16} \left[ 4 + 6 + 4 + 1 \right] = 750$$

. 7

(iii). the expected number of families having no girl i.e. having 4 boys

$$= 800 \left[ {}^{4}C_{4} \left( \frac{1}{2} \right)^{4} \right] = 800 \times \frac{1}{16} \times 1 = 50$$

(iv). the expected number of families having at most two girls i.e. having at least 2 boys

$$= 800 \left[ {}^{4}C_{2} \left(\frac{1}{2}\right)^{2} \left(\frac{1}{2}\right)^{2} + {}^{4}C_{3} \left(\frac{1}{2}\right) \left(\frac{1}{2}\right)^{3} + {}^{4}C_{3} \left(\frac{1}{2}\right) \left(\frac{1}{2}\right)^{3} + {}^{4}C_{4} \left(\frac{1}{2}\right)^{4} \right]$$
$$= 800 \times \frac{1}{16} \left[6 + 4 + 1\right] = 550$$

- b. If there are 3 misprints in a book of 1000 pages find the probability that a given page will contain
  (i) no misprint
  (ii) more than 2 misprints
- Solution (b). Here, total number of pages =1000 No of misprints are 3

10

Let the probability of misprints be p, then  $p = \frac{3}{1000} = 0.003$ 

Let n = 1, then  $m = np = 1 \times 0.003 = 0.003$ 

Now, Poisson distribution for 'r' outcome is

$$P(r) = \frac{e^{-m}m^r}{r!}$$
 (i)

(i). no misprint i.e. r = 0, putting the value of r in equation (i), then

P (0) = 
$$\frac{e^{-m}m^0}{0!}$$
 i.e.  $\frac{e^{-m}}{1}$ , here m = 0.003, then  $e^{-(0.003)} = 0.997$ 

Hence the probability that a page will not contain with no error is 0.997

(ii). more than two misprints i.e. r > 2, i.e. r = 3, putting the value of r in equation (i), then

P (3) = 
$$\frac{e^{-m}m^3}{3!}$$
 i.e.  $\frac{e^{-(0.003)}(0.003)^3}{3!} = 0.0000000045$ 

Hence the probability that a page will not contain more then two error is 0.000000045

## **TEXT BOOK**

I. Higher Engineering Mathematics –Dr. B.S.Grewal, 41st Edition 2007, Khanna Publishers, Delhi.